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(1)  Average age of a team having 12 players is 23 years. If the 

age of the coach is also included, then the average age increases 

by 2 years. What is the age (in years) of the coach? 

12 खिलाड़िय ों वाले एक दल की औसत आयु 23 वर्ष है। यड़द प्रड़िक्षक की 

आयु भी िाड़िल की जाती है, त  औसत आयु 2 वर्ष बढ़ जाती है। प्रड़िक्षक की 

आयु (वर्ों िें) ड़कतनी है? 

SSCCGL201708AUG-S3 : 56 

(a) 41  (b) 47  (c) 49  (d) 51 

 

(2) In a match, average of runs scored by 7 players is 53. If the 

runs scored by 6 players are 121, 40, 26, 56, 37 and 48, then how 

many runs did the 7thplayer scored? 

एक िैच िें 7 खिलाड़िय ों के द्वारा बनाए गए रन ों कीऔसत 53 है। यड़द 6 

खिलाड़िय ों के द्वारा बनाए गए रन 121, 40, 26, 56, 37 तथा 48 है, त  7 वें 

खिलािी ने ड़कतने रन बनाए ह गें? 

SSCCGL201710AUG-S1 : 56 

(a) 26  (b) 37  (c) 43  (d) 48 

 

(3) A group of boys has an average weight of 36 kg. One boy 

weighing 42 kg leaves the group and another boy weighing 30 

kg joins the group. If the average now becomes 35.7 kg, then 

how many boys are there in the group? 

लिक ों के एक सिूह का औसत भार 36 ड़क.ग्रा. है। एक लिका ड़जसका भार 

42 ड़क.ग्रा. है वह सिूह से चला जाता है तथा एक अन्य लिका ड़जसका भार 

30 ड़क.ग्रा. है, सिूह िें िाड़िल ह  जाता है। यड़द सिूह का औसत भार अब 

35.7 ड़क.ग्रा. है, त  सिूह िें ड़कतने लिके हैं? 

SSCCGL201711AUG-S3 : 56 

(a) 30  (b) 32  (c) 40  (d) 56 

 

(4) What is the average of all numbers between 8 and 74 which 

are divisible by 7? 

8 और 74 के बीच सभी सोंख्याओों की औसत क्या है ज  7 से ड़वभाज्य ह ? 

SSCCGL201721AUG-S3 : 56 

(a) 40  (b) 41  (c) 42  (d) 43 

  

(5) The average marks of 10 students in an examination was 25. 

It was later found that the marks of one student had been 

wrongly entered as 34 instead of 43. What is the correct 

average? 

एक परीक्षा िें 10 छात् ों के औसत अोंक 25 थे। बाद िें यह पाया गया ड़क एक 

छात् के अोंक गलती से 43 के बजाय 34 के रूप िें दजष ड़कए गए हैं। त  सही 

औसत क्या है? 

SSCCGL201722AUG-S2 : 56 

(a) 25.5  (b) 24.1  (c) 24.5  (d) 25.9 

  

(6) The average of 3 consecutive even numbers is A. If next 5 

even numbers are added, then what is the average of these 8 

numbers? 

3 क्रिागत सि सोंख्याओों का औसत A है। यड़द अगली 5 सि सोंख्याओों क  

िाड़िल ड़कया जाता है, त  इन 8 सोंख्याओों का औसत क्या है? 

SSCCGL201705AUG-S3 : 56 

(a) A + 3  (b)A + 4  (c) A + 5  (d) A + 7 

 

(7) The average age of 24 students is 12 years. It was observed 

that while calculating the average age, the age of a student was 

taken as 14 years instead of 8 years. What will be the correct 

average age (in years)? 

24 छात् ों की औसत आयु 12 वर्ष है। यह देिा गया है ड़क औसत आयु के 

आोंकलन के सिय एक छात् की आयु 8 वर्ष की जगह 14 वर्ष ली गई थी। सही 

औसत आयु (वर्ों िें) क्या ह गी? 

SSCCGL201710AUG-S2 : 56 

(a) 11.25  (b) 11.5  (c) 11.75  (d) 12.25 

 

(8)  In a class of 50 students there are 27 boys. The average 

weight of these boys is 72 Kg and average weight of the full 
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class is 55.44 kgs. What is the average weight (in kgs) of the girls 

of the class? 

50 छात् ों की कक्षा िें 27 लिके हैं। इन लिक ों का औसत वजन 72 ड़क.ग्रा. है 

और पूरी कक्षा का औसत वजन 55.44 ड़क.ग्रा. है। कक्षा की लिड़कय ों का 

औसत वजन (ड़क.ग्रा. िें) क्या है? 

SSCCGL201717AUG-S1 : 56 

(a) 42  (b) 48  (c) 30  (d) 36 

  

(9) The average age of 120 members of a society is 60.7 years. By 

addition of 30 new members, the average age becomes 56.3 

years. What is the average age (in years) of newly joined 

members? 

एक सिुदाय के 120 सदस् ों की औसत आयु 60.7 वर्ष है। 30 नए सदस् ों के 

आने से औसत आयु 56.3 वर्ष ह  जाती है। नए िाड़िल हुए सदस् ों की औसत 

आयु (वर्ों िें) ड़कतनी है? 

SSCCGL201709AUG-S1 : 56 

(a) 36.5  (b) 37.2  (c) 38.3  (d) 38.7 

 

(10) The average age of a class of 6 girls is x years. Four new girls 

having ages x – 2, x + 2, x + 4 and x + 6 joins the class. What is 

the new average age (in years) of the class? 

6 लिड़कय ों की एक कक्षा की औसत आयु x वर्ष है। 4 नयी लिड़कयााँ, ड़जनकी 

आयु x – 2, x + 2, x + 4 तथा x + 6 है, क  कक्षा िें िाड़िल ड़कया जाता है। 

कक्षा की नयी औसत आयु (वर्ों िें) क्या है? 

SSCCGL201711AUG-S1 : 56 

(a) x + 1  (b) x + 2  (c) 2.5x (d) x + 2.5  

 

(11)  a, b and c are 3 values, such that a + b = 5, b + c = 7.5 and 

c + a = 8.5. What will be the average of these values? 

3 सोंख्याएाँ  a, b तथा c इस प्रकार है ड़क a + b = 5, b + c = 7.5 तथा c + a 

= 8.5 है। इन सोंख्याओों का औसत क्या ह गा? 

SSCCGL201712AUG-S1 : 56 

(a) 1.5  (b) 3  (c) 3.5  (d) .5 

    

(12) The average runs conceded by a bowler in 5 matches is 45 

and 15.75 in other 4 matches. What is the average runs 

conceded by the bowler in 9 matches? 

एक गेंदबाज़ द्वारा 5 िैच ों िें ड़दये गये औसत रन 45 हैं तथा अन्य 4 िैच ों िें 

15.75 हैं। 9 िैच ों िें गेंदबाज़ के द्वारा ड़दए गए औसत रन ड़कतने हैं? 

SSCCGL201710AUG-S3 : 56 

(a) 15  (b) 32  (c) 35  (d) 53.5 

 

(13) 3 numbers whose average is 112, the first number is 1/6th 

the sum of other 2. What is the first number? 

3 सोंख् याएों  ड़जनकी औसत 112 है, उनिें पहली सोंख् या का िान अन् य 2 

सोंख् याओों के य ग का 1/6 व ों भाग है। पहली सोंख् या क् या ह गी? 

SSCCGL201717AUG-S2 : 56 

(a) 45  (b) 30  (c) 15  (d) 48 

 

(14) Average of 11 numbers is 7. If every number is doubled, 

then what will be the new average of the numbers? 

11 सोंख्याओों की औसत 7 है। यड़द प्रते्यक सोंख्या दुगुनी ह  जाए, त  सोंख्याओों 

की नया औसत क्या ह गी? 

SSCCGL201709AUG-S3 : 56 

(a) 3.5  (b) 7  (c) 10.5  (d) 14     

 

(15) The average weight of 100 students is 32 kg. The average 

weight of first 49 students is 30 kg and of last 50 students is 34 

kg. What is the weight (in kg) of the 50th student? 

100 छात् ों का औसत भार 32 ड़कग्रा. है। पहले 49 छात् ों का औसत भार 30 

ड़कग्रा. है तथा अोंड़ति 50 छात् ों का औसत भार 34 ड़कग्रा. है। 50 वें छात् का 

भार (ड़कग्रा. िें) क् या है? 

SSCCGL201716AUG-S3 : 56 

(a) 25  (b) 30  (c) 32  (d) 33 

 

(16) The average weight of P, Q and R is 45 kg. If the average 

weight of P and Q be 36.5 kg and that of Q and R be 52 kg, 

0then what is the weight (in kgs) of Q? 

P, Q और R का औसत वजन 45 ड़कग्रा. है। यड़द P और Q का औसत वजन 

36.5 ड़कग्रा है और Q और R का औसतन वजन 52 ड़कग्रा. है, त  Q का वजन 

(ड़कग्रा. िें) ड़कतना ह गा? 

SSCCGL201717AUG-S3 : 56 

(a) 42  (b) 44  (c) 46  (d) 48 

 

(17) The average cost of 5 items in a shopping list is Rs 650. If 

one more item whose cost is Rs 1400 is added to the list what 

will be the new average (in Rs)? 

िरीददारी की सूची िें 5 वस् तुओों की औसत कीित 650 रु है। यड़द 1400 रु 

कीित वाली एक और वस् तु सूची िें डाली जा है, त  नई वस् तु औसत (रु. िें) 

क् या ह गी? 

SSCCGL201718AUG-S2 : 56 

(a) 775  (b) 875  (c) 725  (d) 825 

 

(18) A batsman makes a score of 81 runs in the 16th match and 

thus increases his average runs per match by 3. What is his 

average after the 16th match? 

एक बल् लेबाज 16वें िैच िें 81 रन बनाता है और इस प्रकार उसका औसत 3 

से बढ़ जाता है। 16 वें िैच के बाद उसकी औसत क् या है? 

SSCCGL201718AUG-S3 : 56 

(a) 35  (b) 34  (c) 33  (d) 36 

 

(19) What is the average of all numbers between 11 and 80 

which are divisible by 6? 

11 और 80 के बीच सभी सोंख् याओों का औसत क् या है ज  6 से भाज् य हैं? 

SSCCGL201718AUG-S1 : 56 

(a) 46  (b) 47  (c) 44  (d) 45 

 

(20) The average of four consecutive odd numbers is 64. What is 

the value of largest number? 

चार लगातार ड़वर्ि सोंख् याओों का औसत 64 है। ड़विालति (लाजेस् ट) सोंख् या 

का िान क् या है? 

SSCCGL201719AUG-S1 : 56 

(a) 65  (b) 69  (c) 71  (d) 67 
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(21) The average of 8 consecutive natural numbers is 38.5. What 

is the largest of these 8 numbers? 

8 क्रिागत प्राकृड़तक सोंख् याओों का औसत 38.5 है। इन 8 सोंख् याओों िें से 

सबसे बिी सोंख् या कौन सी है? 

SSCCGL201716AUG-S2 : 56 

(a) 41  (b) 39  (c) 42  (d) 45 

 

(22) In the first 45 overs of a 50 over innings, the run rate was 5.8 

runs per over. What is the required run rate in the remaining 

overs to reach the target of 295 runs? 

50 ओवर ों की पारी िें पहले 45 ओवर िें रन रेट 5.6 रन प्रड़त ओवर था। 295 

रन के लक्ष् य तक पहुोंचने के ड़लए िेर् बचे ओवर ों िें आवश् यक रन रेट क् या है? 

SSCCGL201719AUG-S2 : 56 

(a) 6.9  (b) 6.8  (c) 6.7  (d) 6.6 

(23) The average marks of 40 students in an examination was 25. 

It was later found that the marks of one student had been 

wrongly entered as 73 instead of 37. What is the value of correct 

average? 

एक परीक्षा िें 40 छात् ों के औसत अोंक 25 थे। बाद िें यह पाया गया ड़क एक 

छात् के अोंक गलत रूप से 37 के बजाय 73 के रूप िें दजष ड़कए गए हैं सही 

औसत का िान क् या है? 

SSCCGL201719AUG-S3 : 56 

(a) 24.3  (b) 24.1  (c) 24.5  (d) 24.7 

 

(24) The average weight of P, Q and R is 47 kg. If the average 

weight of P and Q be 32.5 kg and that of Q and R be 48.5 kg, 

then what is the weight of Q (in kgs)? 

P,Q और R का औसत वजन 47 ड़कग्रा. है। यड़द P और Q का औसत वजन 

32.5 ड़कग्रा और Q और R का औसत वजन 48.5 ड़कग्रा है, त  Q का वजन 

(ड़कग्रा. िें) क् या है? 

SSCCGL201720AUG-S1 : 56 

(a) 25  (b) 21  (c) 29  (d) 33 

 

(25) The average weight of A, B and C is 49 kg. If the average 

weight of A and B is 35 kg and that of B and C is 62 kg, then the 

weight of B (in kgs) is? 

A, B और C का औसत वजन 4 ड़कग्रा है। यड़द A और B का औसत वजन 35 

ड़कग्रा है और B और C का 62 ड़कग्रा है, त  B का वजन (ड़कग्रा िें) ड़कतना है? 

SSCCGL201721AUG-S1 : 56 

(a) 47  (b) 45  (c) 43  (d) 49 

 
 

(26) In the first 40 overs of a 50 over innings, the run rate was 4.8 

runs/over. What is the required run rate in the remaining 10 

overs to reach the target of 241 runs? 

50 ओवर की पारी िें पहले 40 ओवर ों िें रन रेट 4.8 रन/ओवर था। 241 रन 

के लक्ष् य तक पहुोंचने के ड़लए िेर् 10 ओवर ों िें आवश् यक रन ों की दर ड़कतनी 

ह गी? 

SSCCGL201721AUG-S2 : 56 

(a) 6.7  (b) 6.5  (c) 6.3  (d) 4.9 

 

(27) The average of 17 results is 60. If the average of first 9 

results is 57 and that of the last 9 results is 65, then what will be 

the value of 9th result? 

17 पररणाि  का औसत 60 है। यड़द प्रथि 9 पररणाि  का औसत 57 है तथा 

अोंड़ति 9 पररणाि का औसत 65 है, त  9 वे पररणाि का िान क्या ह गा? 

SSCCGL201705AUG-S1 : 56 

(a) 39  (b) 78  (c) 117  (d) 156 

 

(28) A batsman makes a score of 111 runs in the 10th match and 

thus increases his average runs per match by 5. What will be his 

average after the 10th match? 

एक बल् लेबाज 10-वें िैच िें 111 रन बनाता है और इस प्रकार के प्रत् येक िैच 

िें उसकी औसत 5 रन से बढ़ जाती है। 10-वें िैच के बाद उसकी औसत क् या 

ह गी क् या ह गी? 

SSCCGL201706AUG-S1 : 56 

(a) 66  (b) 61  (c) 62  (d) 64 

 

(29) What is the average of all numbers between 9 and 90 which 

are divisible by 8? 

9 और 90 के बीच सभी सोंख्याओों का औसत क्या है ज  8 से भाज्य ह ों? 

SSCCGL201706AUG-S3 : 56 

(a) 53  (b) 52  (c) 51  (d) 50 

 

(30) Average age of 20 students is 21 years. 2 students leave the 

group and 1 new student joins the group. The average now 

becomes 20 years. If age of one of the student who left the 

group is 26 years and the one who joined is 20 years, then what 

is the age (in years) of the other student who left the group? 

20 छात् ों की औसत आयु 21 वर्ष है। 2 छात् सिूह छ िकर जले जाते है तथा 

1 नया छात् सिूह िें जुि जाता है। औसत अब 20 वर्ष ह  जाती है। ड़यद 

छ िकर जाने वाल ों िें से एक छात् की आयु 26 वर्ष है तथा ज  एक सिूह से 

जुिा है उसकी आयु 20 वर्ष है, त  सिूह छ िने वाले दूसरे छात् की आयु (वर्ो 

िें ) क्या है? 

SSCCGL201706AUG-S3 : 75 

(a) 20  (b) 14  (c) 22  (d) 16 

 

(31) The average of 5 members of a family is 24 years. If the 

youngest member is 8 years old, then what was the average age 

(in years) of the family at the time of the birth of the youngest 

member? 

एक पररवार के 5 सदस् ों की औसत आयु 24 वर्ष है। यड़द सबसे छ टे सदस् 

की आयु 8 वर्ष है, त  सबसे छ टे सदस् के जन्म के सिय पररवार की औसत 

आयु (वर्ों िें) क्या थी? 

SSCCGL201708AUG-S1 : 56 

(a) 16  (b) 20  (c) 24  (d) 32 

 

(32) The average marks of 40 students in an examination was 34. 

It was later found that the marks of one student had been 

wrongly entered as 62 instead of 26. what is the correct average? 

एक परीक्षा िें 40 छात्  के औसत अोंक 34 थे। बाद िें यह पाया गया एक छात् 

के अोंक गलत तरीके से 26 के बजाय 62 के रूप िें दजष ड़कए गए है । सही 

औसत ड़कतना है? 
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SSCCGL201723AUG-S3 : 56 

(a) 33.1  (b) 33.3  (c) 33.5  (d) 33.7 

 

(33) The average of four consecutive odd numbers is 40. What is 

the largest number? 

चार लगातार ड़वर्ि सोंख्याओों का औसत 40 है। ड़विालति सोंख्या कौन सी है? 

SSCCGL201722AUG-S3 : 56 

(a) 42  (b) 45  (c) 43  (d) 44 

 

(34) In a class of 39 students there are 26 girls. The average 

weight of these girls is 42 Kgs and average weight of the full 

class is 48 kgs. What is the 

average weight (in kgs) of the boys of the class? 

39 छात्  के एक वगष िें 26 लडड़कय ों है । इन लडड़कय ों का औसत वजन 42 

ड़क.ग्रा. और पूणष वगष का औसत वजन 48 ड़क.ग्रा. है। कक्षा के लिक  का 

औसत वजन (ड़क.ग्रा.िें ) क्या है? 

SSCCGL201723AUG-S1 : 56 

(a) 54  (b) 66  (c) 60  (d) 62 

 

(35) The average cost of 4 items in a shopping list is Rs 1,250. If 

one more item whose cost is Rs 2,000 is added to the list what 

will be the new average (in 

Rs)? 

िरीदारी की सूची िें 4 वस् तुओों की औसत लागत Rs. 1,250 है। अगर एक 

और वस् तु उस सूची िें ज िी जाए ड़जसका िूल् य Rs. 2,000 है, त  अब उनकी 

नई औसत (रुपये िें) क् या ह गी ? 

SSCCGL201722AUG-S1 : 56 

(a) 1100  (b) 1500  (c) 1400  (d) 1250 

 

(36) A batsman makes a score of 95 runs in the 13th match and 

thus increases his average runs per match by 4. What is his 

average after the 13th match? 

13 वी िैच िें एक बले्लबाज ने 95 रन बनाये और इस प्रकार प्रड़त िैच उसके 

रन  का औसत 4 से बढ़ जाता है। 13 वी िैच के बाद उसकी औसत क्या है? 

SSCCGL201723AUG-S2 : 56 

(a) 47  (b) 43  (c) 45  (d) 49 

 

(37) Of the 3 numbers whose average is 40, the first is 1/3 rd the 

sum of other 2. What is the first number? 

3 अोंक ों का औसत 40 है, उनिें से पहला अोंक अन्य द न ों के य ग का 1/3 है। 

त  पहला अोंक क्या है? 

SSCCGL201720AUG-S3 : 56 

(a) 20  (b) 50  (c) 25  (d) 30 
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Answer Key 

1 C 2 C 3 C 4 C 5 D 

6 C 7 C 8 D 9 D 10 A 

11 C 12 B 13 D 14 D 15 B 

16 A 17 A 18 D 19 D 20 D 

21 C 22 B 23 B 24 B 25 A 

26 C 27 B 28 A 29 B 30 B 

31 B 32 A 33 C 34 C 35 C 

36 A 37 D       
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Solution 
(1) 

(x1+x2+--------+x12)/12=23………(1)                                                 

(x1+x2+--------+x12+c)/13=25……..(2)                                             

Solving eq. 1 and 2 we get value of c(coach age)=49 

 

(2) 

Total run = 7 × 53 = 371 

Run by C players = 121 + 40 + 26 + 56 + 37 + 48 = 328 

∴ run by seventh players = 371 – 328 = 43  

 

(3) 

Let total no of boys be x 

∴ total weight = 36 x 

Total new sheet weight = 36x – 12 

New average = 3 : 5 : 7 

∴ 35.7x  = 36x – 12 

x = 12/0.3×10 = 40 

  

 

(4) 

The numbers between 8 and 74 which are divisible by 7 are 

14,21,28,35,42,49,56,63,70 

Whose sum= 378/9=42 

 

(5) 

 
 

(6) 

 
 

(7) 

Student=24 

Average=12 

Difference in year=14-8=6 

Difference in Average=24/6=0.025 

Actual Average=12-0.25=11.75 

 

(8) 

27 × 72 +23  x= 50 × 55.47 

X=36 

 

(9) 

(150 × 56.3- 120 × 60.7) /30 

=1161/30=38.7 

 

(10) 

6 girls = x 

So N = 6x 

Hence (6x + x-2 + x+2 + x+4 + x+6) / 10 

Solving we get (10x + 10) / 10 

Or x+1 

  

 

(11) 

Adding all 

2(a + b + c) = 5 + 7.5 + 8.5 = 21 
(a+b+c)/3 = 21/6 = 3.5 

 

(12) 

Total runs conceded = 5 × 45 + 4 × 15.75 

= 225 + 63 

= 288 

Required average = 288/9 

= 32 

 

(13) 

 
 

(14) 

 
 

(16) 

Let the weight of Q be x kg. 

∴ According to Question 

45 × 3 – (36.5 × 2 - x) – (52 × 2 - x) = x 

⇒ x = 42 kg 

  

 

(17) 

New average = (5×650+1400)/(5+1) 

= 4650/6 = 775 

 

(18) 

Let his average after 15 matches be x 

∴ ATQ 
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(15x + 81)/16 = x + 3 

⇒ 15x + 81 = 16x + 48 

⇒ x = 33 

∴ Avg after 16 matches = 36 

  

 

(19) 

Numbers between 11 and 80 which are divisible by 6 are 12, 

18........78. this forms an AP 

Tn = a + (n - 1)d 

78 = 12 + (n - 1) 

n = 12 

sum = n/2 [first term + last term] 

= 12/2 [12 + 78] = 540 

Avg. of numbers = 540/12 = 45 

 

(20) 

 
 

(21) 

Sum of 8 consecutive natural numbers = 8 × 38.5 

= 308 

∴ n/2 [2a + (n - 1) d] = 308 

⇒ 8/2 [2a + (8 - 1)1] = 308 ⇒ a = 35 

∴ the largest number is 42. 

 

(23) 

Average marks = 40 × 25 = 1000 

But wrongly entered = 73 

So, correct marks = 37 

Difference = 73 – 37 = 36 

Correct average = 1000-36⁄40 = 24.1 

 

(24) 

Required value of Q 

= (47 × 3) – [47 × 3 – 65] + [47 × 3 – 97] 

= 141 – [76 + 44] 

= 141 – 120 = 21 

 

(25) 

We know that, 

A + B + C = 49 × 3 = 147______(i) 

A + B = 35 × 2 = 70         _____(ii) 

B + C = 62 × 2 = 124_______(iii) 

From eqn. (i), (ii), & (iii) 

B = 47 kg. 

C = 77 kg. 

A = 23 kg. 

 

(26) 

Total runs made till first 40 overs = 40 × 4.8 = 192 runs. 

Runs to be made in last 10 overs = 241 – 192 = 49 runs. 

Required run rate = 49/10 = 4.9 runs/over. 

 

(33) 

 
 

(35) 
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